554601 (20254 5) TSCARGIE Y 1 7 /K BER VKRR & 1/3
285 AARTA 27 ) —7 (50m)
IR ;2025525 3R (1) ~6H4H (H)

No.39 Z+F 4x50m A KL—1)L— R A LL—R R a8 21906
R AL =19,
L 10T >
F—L4 K% =
1 £48S SY-H 3/ 2 2:20.11
35.34 1:17.07 1:49.80
1 EHA FH /N5 (0.58) 35. 34
2 A T /N5 (+0. 54) 41.73
3 R EIR NS (+0. 49) 32.73
4 [WE o JEfE /N5 (+0. 27) 30. 31
2 B 1 GHE 2/ 6 2:29.34
37.54 1:19.96 1:56.03
1 BH ¥4 /N5 (0.84) 37.54
2 /NIE A /N5 (0. 30) 42. 42
3 R ER /N (+0. 45) 36.07
4 HEb N5 (+0.69) 33.31
3[R IR SCrE 2/ 4 2:29.91
37.30 1:18.29 1:56.93
1 /NH ZE#E /N5 (0.62) 37. 30
2 WE B /N5 (0. 35) 40. 99
3 MTNEXTE /N5 (+0. 52) 38. 64
4 LR =EF /N5 (0. 25) 32.98
4 VT = 2/ 5 2:30.45
38.23 1:18.51 1:55.85
1 WH REE /N5 (0.64) 38.23
RN /NG (0. 42) 40. 28
3 AR R /B (+0. 30) 37.34
4 ZEHFEE /N5 (0. 18) 34. 60
5 IGRPES C 1/ 4 2:31.34
38.49 1:23.10 1:57.40
1 BRZE  ZEE /N5 (0.75) 38. 49
2 EY EE /NG (0. 55) 44. 61
3 CEHEmE Y /N (0. 40) 34. 30
4 B TR /N (+0.57) 33.94
6 4HESC 1/ 3 2:43.27
38.98 1:25.86 2:04.15
1 s8Il eSS /N5 (0.62) 38.98
2 A EE(E /N (+0.73) 46. 88
3 g BIE /N5 (+0.21) 38.29
4 BB HZs /N3 (+0. 69) 39.12
7T 48kS SAIR 1/ 5 2:44.27
45.13 1:27.15 2:06. 34
1 HHk R /N5 (0.75) 45.13
2 kW +t¥ /N5 (0. 33) 42. 02
3 MAEREKE /N5 (+0.53) 39.19
4 Kl ALE /N5 (0. 36) 37.93
8 ktkSS 1/ 2 2:44.84
40.65 1:24.04 2:07.58
1 86Kk B /N (0.76) 40. 65
2 g EEE /NG (+0. 42) 43.39
3 /NGE EEE /N (+0.67) 43.54
4 EH BT /N (+0.52) 37.26
9 ,ULIgE 1/ 6 2:48.30
40.25 1:27.52 2:08.58
1 W /N5 (0.63) 40. 25
2 $KkE KAE /N4 (+0. 68) 47.27
3 wHE =¥ /N5 (0. 08) 41. 06
4 HpE<H /N5 (+0. 50) 39. 72
FRIRS S 1/ 7  EiE
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5 46[a] (20264 ) TSCATRMET 1 77 R /K BE/KIKBERR R & 2/3
25 AARTA 27 Y —7 (50m)
HA 202556 H3H (1) ~5H4H (H)

No.39 Z+F 4x50m A KL—1)L— R A LL—R R a8 2:06.13
R AL -Vo.
L 11 -128 >
F—L4% K% =
1 [HIRy E 3 SCrd 3/ 4 2:12.34
34.35 1:11.43 1:42.63
1 B A 1 (0.63) 34. 35
2 g EL /N6 (+0. 49) 37.08
3 Bl AR 1 (+0.44) 31. 20
4 kW EW 1 (+0.28) 29.71
2 4FESC 3/ 3 2:17.67
34.17 1:09.77 1:45.20
1 #E #HEB 1 (0.60) 34. 17
2 LRE 63 /N6 (+0.31) 35. 60
3 oM HE /N6 (+0. 35) 35. 43
4 Jnigg  BEFN /N6 (+0. 46) 32. 47
3 A4S S 3/ 5 2:18.55
33.11 1:11.67 1:46.76
1 i R /N6 (0.55) 33.11
2 KA BE /N6 (+0. 40) 38. 56
3 TS /NET /N6 (+0. 55) 35. 09
4 WA Kk /N6 (0. 44) 31.79
4 IEEPES C 3/ 9 2:20.55
34.98 1:12.91 1:48.22
1 [ 7 1 (0.66) 34.98
2 B BERR /N6 (+0. 47) 37.93
3 JEME AR 1 (+0. 54) 35. 31
4 FE L /N6 (0. 32) 32.33
5 kS SAIA 3/ 1 2:21.03
37.51 1:17.48 1:49.76
1 SAAHE BN /N5 (0.79) 37.51
2 kA #IR /N6 (+0. 35) 39. 97
3 il Rk 1 (+0.40) 32.28
4 FER M4 /N6 (+0. 43) 31. 27
6 B I GH#F 3/ 0 2:25.28
35.96 1:17.17 1:52.26
1 B xa» /N6 (0.71) 35. 96
2 HRFHEEE AR /N6 (+0.37) 41. 21
3 TR DA 1 (+0. 29) 35. 09
4 TR EF /N6 (0. 41) 33.02
7 KLERH 3/ 7 2:25.52
38.56 1:20.14 1:53.18
1 Wm Ty 1 (0.62) 38. 56
2 AEH BB /N6 (+0.13) 41.58
3 S E 1 (+0. 25) 33.04
4 {FiE e /N6 (0. 24) 32.34
8 HUlnn 3/ 6 2:25.74
39.19 1:19.57 1:51.73
1 %k EF /6 (0.79) 39.19
2 JniE  WEE /N6 (+0.41) 40. 38
3 mA O EM /N6 (+0. 34) 32. 16
4 KB i3 /N6 (0. 05) 34. 01
9 ,ULIgE 2/ 7 2:28.96
38.35 1:20.55 1:55.89
1 i BE /N6 (0.70) 38. 35
2 Mo AR /N6 (+0.41) 42. 20
3 Al HEK /N6 (0. 62) 35. 34
4 WAEL B /N6 (+0.31) 33.07
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546[0] (20254 5) TSCARTHE 7 1 v 7 AR HRIKBEE R & 3/3
S8 HRTA > 7 ) —7 (50m)
HIH : 2025645 H3H (+)~5H4H (H)
No.39 Z+F 4x50m A KL—1)L— R A LL—RRE ssg 2:06.13
= AL -Vo.
L 11 -128 >
F—L4% K% =
10 vt/ AZh 2/ 3 2:29.95
36.91 1:17.73 1:55.44
1 K EHE /N6 (0.64) 35.91
2 #HE EH /N6 (+0.37) 41. 82
3 M ERLT /N6 (0. 43) 37.71
4 FE EHm /N6 (+0.57) 34.51
11 N6+ 3 2/ 2 2:33.94
39.15 1:26.96 2:02.07
1 Mgy R 1 (0.62) 39. 15
2 EE D /N6 (+0. 45) 47.81
3 Eky FEL /N6 (0. 32) 35. 11
4 FR RN /N6 (+0. 20) 31.87
VT = 3/ 8 %k#%10.12
36.74 1:16.57
1 R ERL /N6 (0.69) 36. 74
2 FUIHHMESS 1 (+0.15) 39. 83
3 i FEDPAS =eh |

4 STk [l 71N6
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